o,
n

o

A=
x| =
= 25 1|7
il
59] i)
B =
{z|z&13
<z
< 15%
E—'—}

i
, n(A) —
n(B) ] #t2
= %
ofod 2}



(o) =Z. =] =
O& 3 el A2

@ {a,b} @ o
® {z|ze 12% A4} @ {z|lzE zx0=0% AAF}

® {zlo= 129] oF}






O]k ZFopA| =

™
@ 54 @ 74 @ 9w ® 117

® 3%



5.

g x

{alats 48] S5} A W, AUB = X7}

{alze 89] °Fs} 9



6. F AT A= {a|loe 157 £}, B = {11, 13, a, a+ 1} o th5te] AU
B={2,3,4,5 6,7 11, 13} 4 ©, a °] #27

@ 2 @ 5 ® 6 @ 9 ® 10



7. AARRU=1{0, 1,2, 3, 4,5, 6, T} O F REAR A, B o] tse] AN B =
{5}, (AUB)°={0, 3}, A— B={1, 4} @ tl, n(B — 4) ©] gh& Flofat,



® 57

@ 271 ® 374 @ 474

@ 174



9. FAHE A= {z]|z=200°l5t 25}, B = {z|lz= 7 0T &g} of thoto
BcCc X c A& WEske X 9 48 5 F5HH?

D 1674 @ 207 ® 247 @ 287 ® 327



10.

= Ag A, Bl Histo] o2 F &2
® AcBo|HANB=B

@ BC A°|H AUB=B

® AUg=yg

@ AcCB, BgAoJHANB=A

® Ac (ANB)C (AUB)



11, the 5 Pl Be 49oR $4) e AL BE 1297 (

O AT A={2) 20, n4) =1

@ A% B={0} L W, n(B) =0

® AY C = {a]z= 159 F5} A o, n(C) =4
@ n({a,b,c}) —n({a,b}) = c

® n({0,1,2}) =3



12. AARL U o 7 #2484 A, Bol Wt A - B =02 °] He F¢E 2F

@ Ac¢cC B° ® A=RB ® AUB=B

@ ANnB=B ® B-A=g



ol

ol

o

ol
el
ol
oln

H

R
H

]



14, AAPF U = {1, 2} o F REGG A, Bol dste] AnB =A< T 4%
A, B = B% 9 4917 Fajolet,



36 5 e 7

92 3}

15.

i

sfelet.

:[L



